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1. A painter charges $35 per hour for labor plus $40 for
a ladder rental when he paints a house. The customer ‘
provides the paint. The total charge to paint a

customer's house was $950. How many hours did the
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2. The set of ordered pairs below represents some

points on the graph of function f.

{(3,11), (-1,3), (5,15), (-4,-3), (-7,-9)}

painter spend painting this house?
D = 950
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1. Which of the following does‘represent a
function? @
X -2 0 4 10

-1 3 1 23

y
la/y=x2—3

@ {6,-1), 6,0), 6, 3), (6, 5

J

2. If F(x)=x?+2x + 3, what is the value of F(x)

™

*3_ What is the value of 6x -3y ,when x = 6 and

y =47 (g(b}iy% t"’k)
e

4. If (- 1\5 ¥) is a solution to the equation

April 23, 2015

6. The table below shows a relationship
between the total cost of purchasing books
through a book club and the number of books
purchased.

Total Cost in Terms of Books Purchased

Books Purchased, x | 0O 1 2
Cost, y $10 | 825 | %40

What is the functions’w

s $10
$15
C _ Cost of the club

C[D»Iumber of books purchased

*!_ A swordfish travels through the water at a

speed of 40 miles per hour. The relationship
between the distance traveled, d, and the
time traveled t, is determined by the function
Which ofo?e followm%statements

= o N

The distance a swordfish travels is
><:etermined by the size of the swordfish.

Is true?

The amount of time a swordfish travels is
etermined by the size of the swordfish.

C The amount of time a swordfish travels is

determined by the distance the swordfish

travels.
D} The distance a swardfish travels is

determined by the amount of time the
swordfish travels.

8. Which of the following represents the parent
function y -2x =77

(A'* 5)’?1:5{\1 =g e the *9 If f(x)=3x- 1 . what is the value of £(-3)?
A

-2 <x <6

—q &r*% What is the domain-of the funct|on shown?

ﬁl@f; el e
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» Sy

2 )8E3)=318) -3

B 2=
2 _,c\_\_
c 8l 7
2
1
D 9=
2
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A
alue of y decreases by 2 unit

2. Which inequality bq_st describes the graph shawn below?

The graph of the equation coq?né the point (-2, —3), and when the value of x increases by 1 unit,

The graph of the equation cor:tyathe points (—1, —=5), (2, —11), arLl/u —18).
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The graph of the equation is a line that passes\yﬂgw pom@h a slope of —2.

_ The graph of the equation contains the points (0, -7), (1, —9), and
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“has a slope of —0.67

F 3x +5y =125
G 3x+5y =77
H 3x +5y =123
J 3x+5y =115
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What is the equation in standard form of the line that passas through the point (1, .24) and

e

q- L’m@e% 2= (a5
| Parallel - -SAME S\D?e' & N - X+ ﬂ " C\{.'\(‘%
¢ nvrnios £\ _ 2
Perpendicular - S PG o??bsg':e . ™M= 3_3 M= -2_ .
Lwm= 7 - Z
1. Which of the following Qa comrect description of the graph of the equaugx2x+ sz?so\\ll for \,
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)1 Matoh Hhe cards into'5 sets of U cords. Eaoh set wil o
' have one graph, one table, one equation, and one cord [
({ with the slope and y-intercept p)
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1. Which equation describes the line that passes 6. Which of the graphs below best represent the
through the paint (4, 7) and is parallel to the line inequality X + 2y < 47
represented by the equation -3x + =47 A B
; o N
! S |17
A p=-3x+18 ,%i (N L : -
- - | -, .-
B y-3¥-5 [ C i | s
_____ SRS VY S I e
1 2 e N e
C =—x+5= LI R | L LI e
V=3%+>3 e
L, ~n
1 1 H- -l
] - =X 8_ ...... _._ SN (VR B i AR e
Yeo3Tets ;
2. Wvrite a function in slope-intercept form that -
represents a line that contains the point (2, 12) and C D
has a slope of -37 = 7 =
':x.i;\__.__:___ e Fee- e -
_____ :b.., S I W I o,
3. Which inequality best represents the graph shown i T i - 1
bElDW? -_||i|!|||'_.'-i"'|--;'1_\_.:.:l?-.'_' PR I " J.(_l.-"{lllil
| i I
...... S NS S B SO I | e
A XidyaE . | e
B dx+p=2 - 1 “T 1T 1
7. The table below shows various values for x and
C odxsy<? ¥ Which equation best describes the
relationship between xand 7
O x+4dy=8
& ¥=-3x+5 ¥ I
_ o B Y= —Br -7 6 23
4. Which function includes the data set
(-27).(4 4) (B.3) ? c Y =¥ +17 2 3
A y:-lx+6 B ¥ =-2x+3 7 -42
2 D ¥ o=3x+41
1 11 -62
C [ =Ex+8 D y=2x-4
5. What are the intercepts of the linear function 8. Which function includes the following set of
shown below? ordered pairs {1.31,(2,0),3,-3) 7
A =3 0vand 9,0 & y--3x R
B (-3, 0and @ 9
x X
El = — D p—
C (0 3)and O, 9 =3 y=-3-4
O 0 -3yand @, 0)




2 Writing Equations.notebook April 23, 2015



	Page 1: Apr 20-2:47 PM
	Page 2
	Page 3: Apr 20-2:47 PM
	Page 4: Dec 15-3:23 PM
	Page 5: Apr 26-11:39 AM
	Page 6: Apr 20-2:47 PM
	Page 7: Apr 20-2:57 PM
	Page 8: Apr 20-3:57 PM

